
1x

03-1113 Front window  

03-1004 Sealing profile  2,4 m

03-1172 Sealing profile  7,8 m
03-1076 Sealing profile  "crown" 5,1 m

DETAIL O
SCALE 1 : 2

02-1440 Gas spring fitting plate  

04-1011 M8 - locking nut  

04-1019 Rivet 4,8 

Kulbult-gasdämpare Gas spring fixing  

DETAIL T
SCALE 1 : 2

04-1072 M5 Washer  Roostevaba

02-1338 Plate for locking rod  

04-1019 Rivet 4,8  Stainless steel

Gas springs:
back hatch: 02-1238

Pos. Tähis Nimetus Möödud;standard/
Märkus QTY.

1 03-1113 Front window -

2 04-1019 Rivet 4,8 4,8 -

3 03-1172 Sealing 
profile 7,86 m/ SAIAG8755 -

4 03-1076 Sealing 
profile 6 m / "crown" profile -

5 03-1004 Sealing 
profile

2,2 m / Hatch 
openings -

6 04-1072 M5 Washer DIN 9021 5,3-15 -

7
Gas spring 

fitting 
(included in 
gas spring)

-

8 MD16-55-
01.101

NP3D-900, -
1100; 

NP3DC-1133-
55-kast

-

9 02-1338 Plate for 
locking rod -

10 02-1440 Gas spring 
fitting plate -

11 04-1011 M8 - locking 
nut -

ISE-01.202

ISE-900;-1100 hardtop assembly drawing

Drawing number:

Scale:

Designed by:

Checked by:

Date:
18.06.2021

S. Ennemuist Title/Name:

Sheet: 1/1

A3

1:8

Th
is

 d
ra

w
in

g 
is

 th
e 

pr
op

er
ty

 o
f P

LB
 V

in
di

c 
AB

. I
t i

s 
st

ric
tly

 c
on

fid
en

tia
l

an
d 

m
us

t n
ot

 b
e 

co
pi

ed
, t

ra
ce

d 
or

 lo
an

ed
 w

ith
ou

t p
er

m
is

si
on

. A
ny

 in
fri

ng
em

en
t o

f t
he

se
 c

on
di

tio
ns

 w
ill 

le
ad

 to
 th

e 
in

st
itu

tio
n 

of
 le

ga
l p

ro
ce

du
re

s

General tolerances:
ISO 2768-1m

M. Männapuu

PLB Vindic AB Sweden

Owner:



03-1136 Seal double bolt  

08-1132 Brake light  
04-1082 Screw
04-1084 Washer
04-1117 Locking nut

02-1439 Hinge  

04-1010 M6-kinnitusmutter 

02-1096 Fastener

04-1015 M6-Washer

03-1439 Hinge seal
04-1015 M6-Washer

04-1010 M6-kinnitusmutter 

04-1064 M6 Protective cap  

02-1302  Double bolt L=70  

     

04-1033 Screw  RXS A4 

02-1273 Cover  

04-1013 M10 - Nut low

04-1013 M10 - Nut low

02-1341 Locking rod

02-1330 Adapter for locking rod

02-1326 Rod guide

02-1327 Rod guide upper04-1010 M6-kinnitusmutter

04-1015 M6-Washer
02-1317 Gas spring fitting-C

04-1011 M8 - locking nut

Kulbult-gasdämpare Gas spring fixing  

04-1110 Bolt M5 MVBF 

04-1072 M5 Washer

04-1009 M5- Locking nut

02-1302 Double bolt L=70  

02-1329 Bushing

02-1328 Latch bar

03-1167  Window back  

04-1002  Screw MFS 5x25 
02-1033  T-handle  

03-1136  Seal double bolt  

03-1005  Sealing profile  1,43 m

Pos. Tähis Nimetus Möödud;standard/
Märkus Kogus

1 NP3DC-
03.101

NP3DC 
tagaluuk 
laminaat

0,91 1

2 03-1167 Window 
back 1

3 04-1010
M6-

kinnitusmutt
er

12

4
Kulbult-
gasdämpar
e

Gas spring 
fixing 2

5 04-1011 M8 - locking 
nut 0397 8 2

6 08-1132 Brake light 1

7 1

8 02-1317 Gas spring 
fitting-C 1

9 02-1273 Cover 1

10 02-1033 T-handle 1

11 02-1326 Rod guide 1

12 02-1327 Rod guide 
upper 1

13 04-1009 M5-Locking 
nut 0397 5 2

14 02-1329 Bushing for 
rod guide 1

15 04-1072 M5 Washer 0412 925 2

16 04-1110 M5 Screw 
MVBF 0076 5 16 2

17 02-1341 Locking rod L=700 2

18 02-1328 Latch bar 1

19 02-1330 Adapter for 
locking rod 2

20 2

21 02-1318 Gas spring 
fitting-D 1

22 02-1439 Hinge 2

23 03-1439 Hinge seal Rubber 2- 43 x 84 2

24 03-1136 Seal double 
bolt 4

25 02-1302 Double bolt 
L=70 4

26 04-1064
M6 

Protective 
cap

4

27 04-1033 Screw  RXS 
A4 0127 142 13 4

28 03-1005 Sealing 
profile 1,4 m 1

29 04-1015 M6-Washer 412926 12

30 04-1013 M10 - Nut 
low 0397 10 2

31 04-1002 Screw MFS 
5x25 0288 5 25 2

32 02-1096 Fastener L= 70 mm 2

33 NP3DC-
03.101

NP3DC 
tagaluuk 
laminaat

0,91 1

34 03-1005 Sealing 
profile 1,43 m 1

ISD-03.201

ISD-55, ISD-0, ISE-55 and ISE-0
back hatch assembly drawing

Drawing number:

Scale:

Designed by:

Checked by:

Date:
17.06.2021

S. Ennemuist Title/Name:

Sheet: 1/1

A3

1:5

Th
is

 d
ra

w
in

g 
is

 th
e 

pr
op

er
ty

 o
f P

LB
 V

in
di

c 
AB

. I
t i

s 
st

ric
tly

 c
on

fid
en

tia
l

an
d 

m
us

t n
ot

 b
e 

co
pi

ed
, t

ra
ce

d 
or

 lo
an

ed
 w

ith
ou

t p
er

m
is

si
on

. A
ny

 in
fri

ng
em

en
t o

f t
he

se
 c

on
di

tio
ns

 w
ill 

le
ad

 to
 th

e 
in

st
itu

tio
n 

of
 le

ga
l p

ro
ce

du
re

s

General tolerances:
ISO 2768-1m

M.Männapuu

PLB Vindic AB Sweden

Owner:


	Sheet1
	Drawing View1
	Detail View O (1 : 2)
	Detail View T (1 : 2)

	Sheet1
	Drawing View1


